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[¢-tg?tdt = [td(igr —1)= t(1gt —1)— (gt — 1)t = 1 -1g1 —% +
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OTBeT: lsh2x - lch2x +C.
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Otser: —2e 2 (x2 +4x+ 8)+ C.

Orser: —2(2x% +6x+13f 2 +C
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)
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15. 4dx Ortser: iarctge +C.
e +4 4 2
id Orser: —e"—2lne"—1’+C (x;tO).

2x _

17. I2e < 3 dx . e"—3‘+C (x#1n3).

—2e" -3

18. je +3e 10 e (k#1n2).

OtBert: 32 e’ —2’13(8"r +2)7)+%11‘l(82'r +4)— %arctg%—x+c.
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19. I In xdx. OrBer: %(Inx)g +C (x > 0).
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2. | dx_ Orser: Inflnx+C (x> 0;x #1).
xInx

21. jlnx OrBer: _ln_x__ (x>0).

x X

22. jlnx OrtBet: — 212))::1 (x > 0).

23. jxln xdx . OtBeT: %x (Zln x— 21nx+1) (x>0).

24. j\/;lnzxdx. Orser: Zx%(lnzx—ilnx+§j-l—C (x>0).
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25. Ilnx OtBeT: 2\/;lnx—4\/;+c (x>0).
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26. Ix ln(l + l)a’x . Otser: x—ln(l + l} + X l1n|1 +2+C (xe[-10]).
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28. .[ln X +x)dx Orger: xln(x2 +x)+ln|x+1|—x+C (x ¢ [-1,0]).



§6. Humezpuposanue 2unep6oiuyeckux, NoOKazameabHuix u op. yHkyuil 177

29.

Nel

30.

31.

32.

33.

34.

3

W

36.

37

38.

o

.[xz In(l + x Jdx .
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OTBeT: %ln(]+x)—%+——§+%ln(l+x)+c (x > —1).
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J‘cos2 (In x)dx .

x  xcos(2Inx)+2xsin(2Inx)

Orser: — + +C (x>0).
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cos” x 2
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dx OtBeT: ————1In

T v
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OtBer: xln(\/l—x+ 1+x)—§+%arcsinx+c Qx|<1).

Iln(x + m)dx

OtBeT: ad ln(x+\/l-i-)c2 )—%ln(l+x2)+C.
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dx (0<x<1).
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+larcsinx+ —V1I-x*+C.
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-arctgx - ln(l +x° )+ C.
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39. jx arcsin xdx . Otser: —arcsinx ——arcsinx+—+1—-x" +C.
2 4 4
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40. Ixarcctgxdx . Ortser: > + arcctgx + C.
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41. Ixz arcsin xdx . OTBeT: x?arcsmx+ al Ji-x2+C Qx| < 1).
x’ P )
2 A _r -
42. .[x arctgxdsx . Orger: 3 arctgx p + P ln(l +x )+ C.
1 x? 1 1
43. Ixarccos—dx. Otser: —arccos— ——+/x> —1-sgnx+C Qx| 2 1).
X 2 x 2
Xarccos x arccos x 1+x
44, I—— x OtBeT: = l | | +C Qx| < 1).
Ji-xy Nl
arcsin x i «/
45. I dx. Otger: _ 218X _ |1+ 1-x | 0 < |x| < 1).
x? X \ ‘
3 2 1 4 2 2
46. Ix arctg “xdx . Orser: Zx arctg”x — Zarctg xX—
1/ , xt 1 X
——\x" =3xjarctgx + —— —Inl{l+x° )+ C.
) X ) X
47. J‘arcsm1/ dx .Otser:t-1g’t —1gt +1, rae ¢ = arcsin,, /— (x>0).
x+1 x+1
arcctg\3x 1
48. I—# dx . Otser: — —arcctg’ (3x) +C.
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3
X +arccos? x 2 2
49. j Omser: —+/1 — x* —=arccos? x+C QX|<1).
V1= x? 5
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50. j
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OtBeT: — %\/ 1-4x* + %arcsin“ (2x)+ C (|x| < %)
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51, [NIE Jarcig2x . ; 1 D rerg? >0).

0 Otser: gln(l +4x2)+§arctg2(2x)+C (x
5 J-arcsin X —arccosx

V1-x?

2
x -2 3 1
53. sz 1 arctgxdx . Orser: xarctgx — Earctgzx - Eln(l +x? )+ C.

dx . OrserT: %(arcsin2 x + arccos’ x)+ C (M < 1).

3+2x7
54. I arctgxdx . Otget: 2xarcigx + 1 arctg’x — ln(l +x? )+ C.
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55.
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4
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Ortser: M+ X« arctgx — x—+zln(1+x2)+C.
2 3 6 3
arctg(ei]
57. jx—dx.
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2
Otser: —2e amg(ej J - (arctgLeE D +x- ln(l +e' )+ C.



